BAILDON TOWN COUNCIL RISK REGISTER 2018 – 19 
N.B. BTC Risk appetite is a score of 3 – only risks with scores over 3 will remain on the register.

	RISK
	Type


	Impact
	L’hood
	priority
	Risk Response/ Mitigation
	Residual
L'hood
	Score
	Owner

	Financial Risks
	
	
	
	
	
	
	
	

	Annual Expenditure exceeds Income
	F
	3
	2
	6
	Budgetary control 
	1
	3
	Gov / RFO

	Unexpected expenditure
	F
	3
	2
	6
	Maintain adequate reserve
	1 
	3
	Council / RFO

	Inadequate Insurance cover
	F
	3
	3
	9
	Annual review 
	1
	3
	Clerk 

	Maintenance of Reserve at agreed level
	F
	3
	2
	6
	
	2
	6
	Council/RFO

	Theft of assets or cash
	F
	2
	2
	4
	Office is alarmed and low amount of cash left in the building 
	1
	2
	Clerk / Gov

	Fraud
	F
	3
	2
	6
	Internal Control – SFI’s
	1 
	2
	RFO / Gov

	Business and Reputation Risk
	
	
	
	
	
	
	
	

	Conduct of councillors
	R
	3
	2
	6
	Adopted model code of conduct
	1
	3
	Clerk/ Council

	Long term staff Absence
	R
	3
	2
	6
	Business continuity plan now approved and implemented. 
	1
	3
	Clerk/ Gov

	Contractual default
	R
	2
	2
	4
	Contract management procedures
	1
	3
	Clerk/Gov

	IT Asset Failure
	R
	2
	3
	6
	Back up procedures
	1
	2
	Clerk / RFO

	Website Function
	R
	3
	1
	3
	Back up – contractual arrangement
	1
	3

	Clerk/Gov 

	Community Development fund
	F
	2
	2
	4
	Quarterly reports received by the committee before funding release
	1
	2
	Community 

	Toilets
	F R P 
	3
	3
	9
	Volunteers group, regular inspections. 
	2
	7
	Economy

	ICH 
	F R P
	3
	3
	9
	Management by the Clerk and Admin Assistant. 
	2
	7
	Governance

	
	
	
	
	
	
	
	
	

	Physical risks
	P
	
	
	
	
	
	
	

	Lone working 
	P
	3
	1
	3
	Lone working procedures
	1 
	3
	Clerk/Staffing

	Xmas Lights (warden)
	P 
	3
	2
	6
	Electrician to be utilised
	1
	3
	Clerk / Economy

	BHCC Volunteers
	P
	2
	1
	3
	Training of volunteer 
	1
	2
	HCC Manager

	Failure of Accommodation
	P
	3
	1
	3
	Home working / Business continuity plan implemented.
	1
	2
	Clerk / Gov

	Staff injury at work
	P
	2
	1
	2
	DSE yearly assessments 
	1
	1
	Clerk/ Staffing

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


3 is high and 1 is low
1

